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𝐹 = 𝑚𝑎

 



 

 
  

 

 

 



 

 

 



 

 
  

 

 



 

 

 



 

 
  

 

 

 



 

 

 



 

 
  

 

 

http://www.livingreviews.org/lrr-2003-1


 

 

 

 



 

 
  

 

 



 

 

𝑣2 𝑐2⁄

𝑑𝑠2 = (𝑑𝑥2 + 𝑑𝑦2 + 𝑑𝑧2) − 𝑐2𝑑𝑡2

 

𝜑 = 𝐺𝑀 𝑟 = 𝑣2/2⁄



 

 
  

 

 

   

http://arxiv.org/abs/astro-ph/0310808


 

 

 



 

 
  

 

 



 

 

 

 



 

 
  

 

 



 

 

 

http://arxiv.org/pdf/0704.0646.pdf
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𝛾 = 1 √1 − 𝑣2 𝑐2⁄⁄ 𝑣

 



 

 
  

 

𝐺𝑀/𝑟2
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𝑟
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𝑣 = √2𝐺𝑀/𝑟

∆𝑓 𝑓⁄ = 1 − √1 − 𝑣2/𝑐2

√2𝐺𝑀 𝑟⁄ 𝑣

∆𝑓 𝑓⁄ = 1 − √1 − 2𝐺𝑀/𝑟𝑐2
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√5.52 + 3.92 = 6.7
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𝑤 = √2𝐺𝑀/𝑟 𝑟̂

𝑑𝑣/𝑑𝑡

 𝑟 

𝑐 ± 𝑣𝑓𝑙𝑜𝑤

 

http://arxiv.org/abs/gr-qc/0006029v1
http://arxiv.org/abs/gr-qc/0411060v2
http://jila.colorado.edu/~ajsh/insidebh/waterfall.html


 

 
  

 

𝑅𝑆

𝑅𝑆 = 2𝐺𝑀/𝑐2
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https://en.wikipedia.org/wiki/Deriving_the_Schwarzschild_solution


 

 

 



 

 
  

 

 



 

 

𝑅𝐻𝑆 ≈ 𝑟𝑜𝑟𝑏 √𝑀𝑔 3𝑀𝑆⁄3
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http://henrylindner.net/Writings/PhysessImplications.pdf


 

 

 



 

 
  

 

 

 

http://www.dartmouth.edu/~matc/MathDrama/reading/Wigner.html
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